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SECTION -1 :- Answer atleast TWO  Questions



SECTION -2 :- Answer atleast TWO  Questions

       (2)All Questions carry equal marks

       (3)Neatness in handwriting and clarity in expression carries weightage

       (4) Illustration of an Answer with clear sketches / diagrams carries weightage.

SECTION - 1

1.     
With reference to electronic control systems:

(a) Draw a simple block diagram for temperature control;

(b) Describe each component shown in the diagram in (a).

2.    
Discuss EACH of the following with respect to a squirrel cage induction motor:

(a) starting current;

(b) starting torque;

(c) speed.

3.   
(a) 
(i) Discuss the various hazards and problems which are associated with electric cable                   insulation in  the event of fire.    

      
(ii) Suggest remedies for these problems.

(b)    State how the spread of fire may be reduced by the method used for installing electric cables. 

4.  
With reference to preferential  tripping in a marine electrical distribution system:

(a) State why this facility is required;

(b) With the and of a sketch, describe a typical arrangement to provide three stages of tripping  an instantaneous protection against short circuit.

5. 
An electrical device which employs a stationary armature and a rotating electromagnetic field is used a board ship as a ____________.


(a) magnetic amplifier

(b) ship's service alternator
(c) three-wire DC generator
(d) saturable core reactor
Discuss each Point and state the relevance of selecting your Answer.
SECTION – 2

6. 
When the series field of a compound wound DC generator is proportioned to the shunt field, providing for increased voltage with increased load, the generator is known as_____________.
(a)  series compounded

(b)  flat compounded
(c)  over compounded
(d)  shunt compounded
Briefly Justify Your Answer

7.   
What is meant by negative and positive feed backs? Explain the characteristics of negative feed back.

8.  
Write a note on (a) Three point starter, (b) Four point starter.

A d.c. series motor of resistance 1 ( between terminals runs at 800 rpm, 200 V with a current of 15 amps. Find the speed at which it will run when connected in series with a 4 ( resistance and the same current at the same supply voltage.

9.  
A 500V, three-phase alternator supplies a balanced delta-connected load in parallel with a balanced starconnected load. The delta load is 30kW at a power factor of 0.92(leading) and the star load is 40kW at a power factor of 0.85 (lagging). Calculate the line current and the power factor of the supply.

10. 
A system, supplying a 100 kW lighting load at unity power facto and a 300 kW induction motor at 0.85 (lagging) power factor, is to have its power factor improved to 0.95 (lagging), by the use of a 100 kW synchronous motor. Determine the power factor and kVA of the synchronous motor.
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Answers

Answer for Question No. 5    Correct Answer : B

Answer for Question No. 5    Correct Answer : C

